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Pointer



Pointer

e Array

int arr[10];

printf("%d", arr[5]);
printf("%d", *(arr+5));




Pointer

e 2D Array

int arr[10][10];

printf("%d", arr[2][3]);
printf("%d", *(*(arr+2)+3));




Pointer

malloc



Pointer

malloc

[0 #include <stdlib.h>
« 000
U0 Pr;

Ptr = ([jj][))malloc(sizeof(JUN) * 0O)




Pointer

malloc

int arr[10];
int *arrPtr = (int*)malloc(sizeof(int) * 10);

printf("%d", arr[5]);
printf("%d", *(arrPtr+5));




Pointer

malloc

int *arrPtr = (int*)malloc(sizeof(int) * 10);

bool *arrPtrl = (bool*)malloc(sizeof(bool) * 10);

short *arrPtr2 = (short*)malloc(sizeof(short) * 10);

float *arrPtr3 = (float*)malloc(sizeof(float) * 10);

double *arrPtr4 = (double*)malloc(sizeof(double) * 10);

long long *arrPtr5 = (long long*)malloc(sizeof(long long) * 10);

unsigned long long *arrPtr6 = (unsigned long long*)malloc(sizeof(unsigned long long) * 10);




Pointer

malloc

int *arrPtr = malloc(sizeof(int) * 10);

/700000000000

free(arrPtr);
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Pointer

malloc

int arr2D[2][3];
int **arr = (int**)malloc(sizeof(int*) * 2),
for (int i = 0; i < 2; i++)

*(arr+i) = (int*)malloc(sizeof(int) * 3);

printf("%d", *(*(arr+1)+2));
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Pointer

malloc

int arr2D[2][3];

int **arr = (i1nt**)malloc(sizeof(int*) * 2);
for (int 1 = 0; 1 < 2; 1++)

*(arr+1i) = (int*)malloc(sizeof(int) * 3);
// 00000000000
for(int 1 = 0; 1 < 2; i++) {

free(*(arr+1i));
}

free(arr);
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Recursive Function
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Recursive Function

e fibonacci

int

fib(int n){
if(n == 0 || n==1)
return 1;
else return fib(n-1) + fib(n-2);
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Recursive Function

Practice

* 00
o [HO0O0>2000002=n000000000O
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Recursive Function

Practice

« (00
o [HO0O0X=2000002=n000000000

int ans[1000]={0,1,2};
int solve(int n){
if(n<2)
return ans[n];
return ans[n-1] + ans[n-2];
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Recursive Function

Practice

« 00
* JO000O0N, kOOn"k
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Recursive Function

Practice

* 00
* (00000, kOOn"k

int mypow(int n, int k){
if(k == 1)
return n;
else 1f(k%2 == 0)
return mypow((n*n), k/2);
else
return (mypow((n*n), k/2)*n);
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Exercise 7

19


https://oj.mozix.ebg.tw/contest/38

Any Questions?
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